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Base your answers on what you studied in | ¢ Lo-¥135300 -8 Cwys Lo g goid -2
Biology: P AGY) AN e ol

1- Write the scientific term for the e I elat) pllaaal) COS) - )
following sentence:

A type of white blood cells which 43 eliad s gl
destroys the strange bodies and changes | ™ = Hptladis glsl

to phagocytes when needed. 1 J 9ot pat alua W1 ety

L AB L 3Ll

Ut e daals LS

2- Choose the right answer only from the | Lo daid dovonal! Aala W1 il =¥
following: | ol
matuted within bone marton are: | 45 G L e

...... o pllaalf gl 8 Ll

@ T-lymphocyte ( Tx) (T saebucatt ast st @

@ B-lymphocytes. (B) astar bsisa @

@ Macrophages. eSS Hraald LT @

@ T cytotoxic (1) (T meteatt asan) Lt @
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3- Choose only one question (A) or (B) and | :@3 (<) oi (1) Gt gudt di S -

answer it. N PS

Give reason. o2 ot @it e ¥ (1)
A- Surgical sterlization in male and female | Jilugtl (o GLud¥! o1y S0
of human is not a temporary mean of et gkl A3 el
contraception. . . Cd

. | S Ldobie SUilu Juged! 5 ra (<)
B- The vagina secretes mucus and has skin A Y L
folds. gids Gld Glo (g giom 434

4- What happens if: e Gadomy 130 - ¢

Unability of the blood to carry euough OeuSY) 43 pudl dellaliul pus
2ot IS AueStly Ao pully

oxyge to the muscle. gl Lo AL

S- What are the results of: 1ol A el LU (B Le -0
One of the two male nucleii (N) fused with | ¢'% =S4 551541 s | glens!
the embryo sac nucleii (2N) within embryo B0 M didny 93 (B (otind! (ST
sac in flower ovule .
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6- What is the role played by growth hormone | oge,2 aml i1 Houll 92 Lo -1

in human? OB b sastl
7- Choose only one question (A) or (B) 1 (@) 9 (1) ot gaud )t i J250 -V
and answer it. ¢ o (ol
Compare between: ity ol i pelial ot (1)
A- The immune role of Peyer’s patches and 37\
lymphatic node. "N T
B- The immune role of tonsils and tears. gsaatly Guidpll peliall yeudl ()
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8- Study the following figure which o e (S (o L S (a3 ~A
represents a type of RNA then answer the : AP A0
following. b los il @ RNA BLAG 153

(4) (1) (3)
\ I
!
\
s (2) &
First : Write the labels (1) and (2) (1) (1) plES¥ adde i Lo LS1

B0 S 9.0 I | Gty 0B s LOLS

DNA das 8 e g5 Jona

Has Ells any /5 4—/3
TEUD ;ed . g LoS Ll (G g 0!

Second : a nucleotide may replaced another
on a DNA strand '3—/5 but protien is
not changed Explain this statement

9- Explain the role of each : JS idy pasdl I Heudt 9o Le -9
The prostate gland and the two vas Opeleglly Bliwgyd) ue (e
deferenses in a human male. TOLUAN| 583 B (B L

5
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10- Choose only one question(A) or (B) and | (<) of (1) ol udt syt - ¢
write its scientific term. ) | | S
A g JSAN Al o o5 (1)
. 319581 LY o 25 g (2
B- DNA wounded around clusters of histone et Shdatpidhsio o2
proteins. (e Sle o Jg> ity DNA (o)
<A gaugd ) Ot g |

A- A small circular molecule of DNA found
in cytoplasm of prokaryotes.

11- Choose only one question (A) or (B) | (@) of (1) onttauadt dsi ymisnt -1
and then explain its importance. A a

N ] 1 Aliad| s 9 @

A- The glenoid cavity s it (1)
B- The acetabulum. | s g ()
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12- Choose only one question (A) or (B) 1@ (20) 9l (1) (e guudt Al 25 -\ Y
and answer it: cdle

Give reason for: ) >
, i g g ¥ | il 5L (1)

A- Spirogyra algae reprpduces sexual.y and | § iy gy dirain ¥ Lo
asexually but there is no alternation of

generation in it’s life cycle Syalls dilis 3593 B gl

i i s Il Y Cdlas
B- Zygospore in spirogyra algae divides by Jla¥i o3
meiosis. it b spempriti i (o)

Lygee e g pcw ¥

13- Show how to obtain a diploid individual | e Jgwas=tl Sy oS g -\ ¥
(2N) without pollenation or fertilization. )
diuall Ao gamall LS 5,0

.&,'L‘a:'ulji @.EJS 09 (OY)
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14- Choose the right answer only from the | dazs dsvoualt AW i) -\ €

following: il Les
From the natural barriers which represent the
: ; Jiad o Aacdall algmdt ¢
first line of defense is: ............. ! e "?3"’ o
tevies me‘@djy‘t\éﬂ‘b&
acidic gastric Juices hdaelmd| Saaal| O30 580

histamine. Ooliucgtl

interleukines. LS g S

®0e6

lymphokines. N

OO®OO

15- Mention two uses only of the human | psientt diigd fue onllidsn 831 -\ 0
enome. .
8 -8 et
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16- The following sequence shows the PR R i [ S bl (LR
arrangement of nitrogenous bases on e o) . y
one strand of DNA. il ol gl el s2l
DNA glas y

/3 . TAC CCC GAT GGC CCG TTA ACT.../5

First : Write the sequence of nucleotides on. | 2 &ladgdSgcd! aslis oS! :;'jt

mRNA transecribed from it. -4is ¢ guiad | ML.RNA 255>
Second : Write the name of enzyme which | pasiuuedt @3 ¥1 eul cos| Lol
used in this case. Al oan b
17- Show by a labelled diagram only the Sl | LS e dadd g tl g =V

structure of a thoracic vertibrae in

N 2geall 9 4 ygls Acolae 5,38 oS 5
verteberal column in man. N
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18- Study the following figure and answer Loc i @2 (LI IS (upal -\ A
First : Mention the name of this figure. Lok
Second : Mention the role played by the LISl dade Juu Lo ST ¥ i

organell no. (3) ) "Nl A
‘5;‘3‘)3"\'” Lo :Laly

@l dyp gl
(¥) o8,

10
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19- Choose only one question (A) or (B) | a2 (<) of (1) ot sudt iyt =14
and write its scientific term: e JIAN alalt | s
A- A hormone responsible for increasing the . :
v A 51 (3 .
thickness of endometrium. Bl e den Osea (1)
- 1 Ay

B- The transfering of pollen grains from the
anther of a flower to the stigma of another | <o (o glal! cge Jlani (o)

flower on another plant but of the same | i ¢,515,0) cucs o115 03

species. \
P g9l pudd (pe IOl
20- What happens if: s e Sy 130e - Y 0
An experimental rats are injected by a LrdSs (o daddsms 0162 (o>
mixture of heat killed pnumonia virulent | aiwsdt (S) @951 gt
bacteria (S) with living non virulent 2 (R) Lo pos Loyl o 43 et
bacteria (R) Aot | Waed |
21- What are the results of: r e A yiel) EaLi Lo =YY
Absence of the tube nucleus from the pollen | .zlalans (ro 2aso¥isisdi ole
grain.

11
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22- Choose the right answer only from the
following

The infective stage during the life cycle
of plasmodium malaria to man is found in

Female mosquito stomach.
Male mosquito stomach.

Saliva of male mosquito.

®0eE

Saliva of female mosquito.

23- What happens if the measles virus
attacked the man for a second time?

(Al ¥ 2300 elin 31— Zalall 2 3L Ayt ALa | Balgs loia!

dazd Aovvall Al ¥y G5 - VY

' Las
8593 @ OLud DA (guasdl Hglall v g
....... o Lodellpgnga) D bl
A gad! 0] ise

A gad! ,S3 B0

A gad! S Lilal

OO®OO

Ao gadt ol olal

1131 Sy 13Le - YV
Saoldl

12

v/ U.JLIJI JoaJl - d=salpoldulinl) A A auj



YAV/YAT Gty alad| - AL gt (el 1 2R L) sLen 31— dolad| 2 g3l B yuid | ALa3 ) Balgs lomial

24- Compare between the following: 1o Lea JS (o (1y18 - Y €
- Identical twins and fraternal twins 2 Diall @315y AlSLaiall @353l

according to their formation. ]
8 (92 950 Ay oy S (g0

Franternal twins Identical twins
aaliad) @it gt PAL{ PPN (PN PV |

13
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25- Choose only one question (A) or (B) | @3 (<) o (1) odtaudt di s250 -0

and draw a complete labelled diagram | .. . _ - 5
OB ALS po dadd mu Tl

only for it: u GRS e ‘wf" : @f’

: a\), & e ¥ die gt ydl Adstl Lo (1

A- Steps of formation of pollen grain inside e ¥ syl Aty Boea (1)

the anther starting with spore mother cell. | TaY!@s> (255 J> 18 midy

B- Germinated pollen grain. ol rlat A (@)

14
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26- Look at the following figure then o i @ (S Lialt YS! (pmuydl - Y1

answer 5) al
First : Which figure (1) or (2) is in| . —
: . Y) (V) oSt Gee gl ¥ g
a state of contraction and which | (M) """S‘“" e gl E

one is in a state of relaxation? Al 2 Legaly polast Wi

Second : What is the result of absence of cdolwn!
cholinostrase enzyme from these | .45 @2l old Ao Le sLals
rts?
parts (1) Sl Lial | U5 B 3 piaa

15
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27- If you have a sequence of nucleoltides | auec DNA day 5i st IS 131 - YV
on one strand of DNA ST pal

'3 . TACGAATTCATT.....'5

First : Explain the role of (TAC) and (ATT) | ATT ¢ TAC 554401 595 siad : 3]
codons on this strand during protien | w., an s Ll s3ggals

synthesis. opsig g i oL
Second : What is the effect of restriction Wl Sl ! sl Lo sLols

Endonuclease enzyme on the

double helices? Tzo el ol e o pisCd

16
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28- Choose only one question (A) or (B)
and define it:

A- Cartilaginous joints.
B- Ankle.

29- Choose the right answer only:

The immune receptors CD4 are found on
the surface of:...

B- lymphocytes.
Macrophages.
Natural killer cells.
T helper cells (Tg).

®O06

30- Explain the following:
The corpus luteum degenerates at the
fourth month of pregnancy and abortion
will not occure.

(@) 9l (1) {13t A f y50 -YA
(v IS e @

B g yinatl Juolaad! (1)
8yl (o)

1dadd Aovonall ol Wyt -Y4
(o deliad) OMGEIwaYl w9l
2o. A\ LMY mlaw e CD4 g g1

Brasw ()
B poS3| Acaal | @
Jgadal) AGLAY @

TH Sue Lucad ) AL @

1l Lo ypuud -
B i) (B oY muund| peiny
ol ¥ G W LIS e g Jad | (o

17
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31- What happens when: s i Sodomy 13ke -1
- Absence of DNA polymerase enzyme | 31s3 (so DNA 5pels @l old
from the cell nucleus. Al

32- Write the scientific term: e J1AT elal zllaaelf ,S3) Y'Y
- A lymphoid gland located in the upper left s A 3 )yLeats

side of abdominal cavity. Colad! L3 e gi Auglied Bud

Ol gt (re g glall ¥

33- Mention two examples in which gametes | (usss Olowdgs (pdlie 83l -YY
are formed as the result of mitosis Gk e ! G‘-““gy‘
division.

‘§39we pludd!

18
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34 - Choose only one question (A) or (B) 1@ (@) 91 (1) o1 3audt i pis0 -1
and compare between the role of each: t (v0 JS 393 (i (1ylB

A-The cell wall and the epidermis of plant | i Lsr1aes¥ iy g sttt st (1)
surface in plant immunity. LA e lial 2 Sl et
Sy Al yaall duwlastl (o)

A gl ae Liad

B- Hypersensitivity and immune cellular
structures in plants.

19
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35- Show by a labelled drowing only the | adey dazd eu b moy-vo

structure of a DNA molecule. DNA 2555 S 3 GBI
36- Mention the functions of thyroxin 09t Laills g ,S31 =¥
hormone. CyeuS g il

20
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37- Choose one question only (A) or (B) | a2 () 5i (1) omiudt dsi il YV
and write its scientific term. L diepimg SO alalt pllniael] S5

A- A part of the skeletal bone which connects | 1., ,, gt Lataatt Jsgti sty ani (1)
the two lower limbs to verteberal column. (655 3 ety Cyaaliad (Lol

B- The distance between each two successive e Gyadas JS oo B Lusad | ()

(Z) lines in the middle of light band. ailia 2 Bagasall (Z)

JAuaal! Aakailld!

38- Choose one question only (A) or (B) | : (<) of (1) outdtaudt dom iyt -YA

and mention what is meant by: o 3puniall Lo

A- Receptors in plants. LA b e (1)

B- Neutralization. el ()
21
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39- Choose one question only (A) or (B)

A- Umbilical cord in human.
B- The two ovaries in female of human.

and write its position and its function:

(i M1 230L) slom 31— Zoladt 2 3L Ayl aLa3 ) Balgs Ol

() 91 (1) o 13l ) Ao s =¥
s dadd g9 OlSe ,SBI @D

OO N B (6 | St (1)

Ol ¥ 51 B (il ()

Al 159t O LSt
Function position

22
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40- Choose the right answer only of the

following:

The spermatides changes into sperms at the
stage of........

duplication phase.
Metamorphosis phase.
growth phase.

maturation phase.

dadd dovonall Aol s -¢
1ol Lao

QD‘&@Q!%M‘&?M‘J}:&S

..... Z\.\:-).A‘“_,si\ey.n

cac bty @

Silgad! szt @

. 9ot @

W )
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41- Give reason: 1k Lat Jle - €
Confirmative binding is certain between aliaatl aluun ¥ (yo dol ¥ pins

antibodies and antigens. S50 el i ¥ g

42- What happens when: s e S 13Le - £ Y
Absence of DNA helicase enzyme from | LM a3l (o cI gt @30l ol
the nucleus of Euokaryotes. P AT IS

43- Study the following figure which shows the | cuS 3z g i1 LI JSEI uyat -EF
structure of a sex cell (gamete) then answer:

First : What happens if the part number (2)
is absent?

1k Lee conl 0 s Al
gt OLE 13) Gy 3lo ¥yl
(Y) ey

Second: Mention the importance of the y )
(V) By coS i dcenl Lo Lol

structure number (1)

v/ U.JLIJI JoaJl - d=salpoldalinl) A A



Ye\V/YeNr ".ubq.”?m|—‘;3m‘)3.d|

44- Compare between the effect of FSH and

LH Hormones on a human female.

(o M1 2300L5) slom 31— Zoladl 2 3L Ayl aLa3 ) Balgs (ool

t 0 IS G (8 -8 8
sl e o LH (FSH iga »0
OLuo ¥ ST Lo Legis JS

24
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45- Two parts of DNA molecules equal in
length were put in two test tubes and a
different enzyme is added to each of them
as shown in the figure.

(5l ¥ 1 23000) slen ¥ - Zolad) & g3l da yutd  aLaS B3lgs el

DNA dail pi (pa (ps > pudrg @3 -£0
s (gl 3 Jelall dgluie
IS Al cawaly HLasY! ol

;alsjg.a.t‘:'..np:')‘ags.\:.‘,mug:m
el b ga 9o LaS il
E N /‘\E
5 N N A 1
N N

Deoxyribose sugar
290 uSH S

Single parts of DNA, its length
between 4 - 7 nucleotides

+ gt gto DNA (ye 53,0 5131

Nitrogen bases
Al 9,10 dolgd
+

phosphate groups
Olaw g Ole gamse

Gl 98 920 V£ (0

mention the name of the enzyme in each | E« E, Jstuadt @jo¥) gul ;85

case E , E, . Explain your answer.

25
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